Mitosis vs. Meiosis

Type in the following address: http://www.pbs.org/wgbh/nova/miracle/divide.html
Scroll to the bottom and click on Mitosis vs. Meiosis (flash version).

Play each step one at a time, replay if necessary, and answer the corresponding questions.


Mitosis




Meiosis

	Before Splitting
	Before Splitting

	Begin with one parent cell with _____ chromosomes.  By the end of mitosis, you will have _____ daughter cells.
	Begin with one parent cell with _____ chromosomes.  By the end of meiosis you will have _____ cells with _____ chromosomes.

	Interphase
	Interphase I

	What is the most important thing that happens at this point?

So, in a human, how many chromosomes does the cell contain at the end of Interphase?



	Prophase
	Prophase I

	Chromosomes condense into chromatin.
	How does the chromatin behave differently in meiosis prophase I?

What is this process called?



	Metaphase
	Metaphase I

	Centrioles are at opposite poles of the cell and spindle fibers are attached to the centromeres of each chromosome.  

Chromosomes line up along the cell’s equator.
	Spindle fibers attach to each ________________________________.

Compare the chromosomes in prometaphase and metaphase. What is the difference between the chromosomes in these two phases? 

What does the alteration of color represent?



	Anaphase
	Anaphase I

	Centromere breaks and sister chromatid are pulled to the poles.
	Describe what takes place at this point.

How is this different from mitosis anaphase?



	Telophase
	Telophase I

	Sister chromatid reach opposite poles, nuclear membrane reforms, cell splits into two daughter cells.
	Same process as mitosis.  The newly forming nuclear membranes each contain _____ chromosomes.

	Cytokinesis
	Cytokinesis

	Cytokinesis can be defined as:



	
	Interphase II

	
	Are the chromosomes duplicated again, as in Interphase I?



	
	Prophase II

	
	List the similarities to prophase I:

List the differences to prophase I:



	
	Metaphase II

	
	Spindle fibers attach to the _____________

of the chromosomes.

The process is occurring in _____ cell(s).

Chromosomes line up along the ________________ of the cell. 



	
	Anaphase II

	
	How does this step differ from anaphase I?



	
	Telophase II

	
	Chromatids have reached the _________________________ and the nuclear membrane is reforming.

	Cytokinesis

	The cytoplasmic division occurs.

There are now _____ cells with _____ chromosomes each.

These are known as:_______________
    


